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2AM: BHTED
HE: MY - sSHX 222
Cel: F2X 53X 2A(FSNSSUTZLSLEH) (el &e)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
AHEED 1,151,863 974,800 177,063
Aol sZOX Beed 1,151,863 974,800 177,063
Z2X ST A (AENSZIRZLHESSAH) 1,151,863 974,800 177,063
RIS B45 =X 465,000 315,000 150,000
307 gl2tol & 465,000 315,000 150,000
02 pI2AABES 465,000 315,000 150,000
Os3HA H3ZLHE 2EE2XZ
AE 450,000,0008 * 14l 450,000 300,000 150,000
S22 2e 2B 600,000 0 600,000
401 AlEHI 2 =200Y] 600,000 0 600,000
01 Al&HI 595,000 0 595,000
Os3HA Ha-=3FLHEAE HE=>
595,000,000 * 1Al 595,000 0 595,000
03 Al & 2 THH 5,000 0 5,000
SSHA HaILX2AAME HES
5,000,000 * 14l 5,000 0 5,000
ol g1l 59,800 659,800 A 600,000
801 Ol HIH 59,800 659,800 A600,000
01 olldl H 59,800 659,800 A 600,000
OO0t AX 59,800,0008 * 14l 59,800 659,800 A600,000
JIEH HEAHHKI S 27,063 0 27,063
706 D1 EFLH S 21 eh 27,063 0 27,063
03 =g 2 27,063 0 27,063
Os3HA Ha-3LHeALE HE3
27,063,0002 * 1Al 27,063 0 27,063




